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6.

(a) Explain the determination of equilibrium level of
output, employment and the real wage in the

classical system.

(b) Explain how the interest rate is determined in the
Classical Theory. (8,7)
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(a) Explain the effect of investment subsidy on

equilibrium interest rate, consumption, investment,
GDP. Use suitable diagrams.

(b) Explain the important steps in the working of
transmission mechanism. (9,6)
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1. (a) What do you mean by balance of payments

accounts? What is the fundamental balance of
payments identity? Explain with examples.

(b) Define private saving. How is private saving used

2.

in the economy? What is the relationship between

private saving and national saving? (7.5,1.5)

(3F) T AT W X T F FAAS B A e

& WAforer WgeT w1 27 IAET Wed wHeEg

(3) R w=a oY g & deaen § Aol w= &
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(a) Explain the determination of rate of interest by

the demand and supply of money. What happens

to the interest rate if:

(i) Nominal income increases

(ii) Money supply increases
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(iv) Compute monetary and fiscal policy
multipliers (6.9)

(37) fofraRA v wn 27 7 3@ we@ & Ay S

@)

27?

freafofen e v srfamen & avfr =@ 2-
I weA, C = 0.8(i-t)Y

WA X, t=0.25

3w, 1=900-50i

wWH @, G =800

¥ fRals wewE, L=0.25Y-62.5i

Raet 1t geemd, M/P =500

C,1,G 3nfe = +ds &9 ¥ 3R i F % A W W
21

(i) IS a% =1 W= W Hifm)

(i) LM =% = @ A s

(i) JIWET & Hged & JN = #t ® A
o1
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(iv) | ¥ gRad= &t Ivmr =4 e MPC 0.8 & (b) Seignorage is the real revenue from money
T 09 B WM w FG FEY N wea = creation. If the government chooses a constant
G'F;ﬁ'c': w9 ° s w07 rate of nominal mdncy growth and maintains it

forever, what would be its effect on Seignorage?

(v) = 19 o gw 2 oow t=1 Bt @ A | (7.8)
TE 1. %1 9 o (37) Fs1 A A AR AT GRS ) S Fufor Y s

FX| G e H FAT BT 2 ale

5. (a) What is liquidity trap? Is monetary policy effective
(i) - =t o ¥ gfg o 2

in this case?

(ii) o1 smgfd @ 2

(b) The following equations describe an economy-

O g ¥ ARatas Uord 31 e SR aiafae o
3 v R w g 2 o @ w B R F
@ #, @ gEe (Seignorage) W T WNE g7

Consumption Function, C=0.8(i-t)Y - (@)
Tax Rate, t=0.25
Investment, I=900-50i

Government Spending, G=800
) ) 3. (a) What are the social cost of expected and
Money Demand Function, L=0.25Y-62.5i ) ,
unexpected inflation?
Real Money Supply, M/P=500
C,1,G etc are measured in Rs crores and 1 in %, (b) Write short note on following :

(i) Find the equation of IS curve. () High Powered Money

(i) Find the equation of the LM curve. (i) Quantity Theory of Moncy (7.8)

(37) onifer SR e Eefy & wmfrs wwE @
27

(iii) Find the equilibrium levels of output and

rate of interest.

P.T.O.
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4. (a) Define IS curve. Explain its derivation graphically.
Explain the factors causing shift in IS curve with

suitable diagram. .

(b) Suppose we have an economy described by the

following functions :

Consumption Function, C=50 + 0.8Yd
Investment, 1=70

Government Spending, G=200
Transfer Payments, TR=100

Tax Rate, t=0.20

(i) Calculate the equilibrium level of GDP and
the multiplier in this model.

(i) Calculate the budget surplus (BS).

(iii) Suppose that t increases to 0.25. What is
the new equilibrium GDP and the new

- multiplier?
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(iv) Calculate the change in the BS. Would you
expect the change in the surplus to be more
or less if MPC is 0.9 rather than 0.8?

(v) Can you explain why the multiplier is 1
when t=17? (7,8)

() IS =% = uRenfie Y1 FEE ety w @ q
FHAEY| JUGF HR@ H WEwA ¥ IS g% A qed
o 9 FwRER d SR Hig
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I wer, C=50+0.8Yd
R, 1=70
wE @4, G =200
T I, TR =100
W, T=0.20
(i) =@ #ied ¥ gFA W IE FH AIAT TR IR
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(i) woie @AW (BS) & MR W
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